
42
95

 /
 2

4.
05

.2
00

4 
/ 

3

Tr
ek

ha
ak

 ty
pe

:
42

95
V

oe
rt

ui
g 

ty
pe

:
F

IA
T

 P
A

N
D

A
 4

W
D

 ‘0
4

O
P

M
E

R
K

IN
G

E
N

:
1.

V
oo

r 
m

on
ta

ge
 d

ie
nt

 m
en

 te
 c

on
tr

ol
er

en
 o

f d
e 

te
 m

on
te

re
n 

tr
ek

ha
ak

, v
oo

r 
he

t v
oe

rt
ui

g 
de

ju
is

te
 is

.
2.

O
m

 v
ei

lig
he

id
sr

ed
en

en
 m

ag
 d

e 
tr

ek
ha

ak
 a

lle
en

 d
oo

r 
va

kk
un

di
g 

pe
rs

on
ee

l g
em

on
te

er
d

w
or

de
n.

3.
B

es
ch

ad
ig

de
 o

nd
er

de
le

n 
m

og
en

 a
lle

en
 v

er
va

ng
en

 w
or

de
n 

do
or

 o
rig

in
el

e 
on

de
rd

el
en

,
ge

m
on

te
er

d 
do

or
 v

ak
ku

nd
ig

 p
er

so
ne

el
.

4.
A

an
 d

e 
tr

ek
ha

ak
 m

og
en

 g
ee

n 
ve

ra
nd

er
in

ge
n 

pl
aa

ts
vi

nd
en

5.
 W

an
ne

er
 d

e 
ko

ge
l ,

 z
on

de
r a

an
ha

ng
er

, d
e 

zi
ch

tb
aa

rh
ei

d 
va

n 
de

 n
um

m
er

pl
aa

t b
eh

in
de

rt
,

di
en

t m
en

 h
et

 a
fn

ee
m

ba
re

 d
ee

l v
an

 d
e 

tr
ek

ha
ak

 te
 d

em
on

te
re

n.

M
O

N
TA

G
E

H
A

N
D

L
E

ID
IN

G
:

In
di

en
 t.

p.
v.

 d
e 

be
ve

st
ig

in
gs

pu
nt

en
 e

en
 b

itu
m

en
 la

ag
 o

f a
nt

i-d
re

un
la

ag
 a

an
w

ez
ig

 is
, d

ie
nt

 m
en

de
ze

 te
 v

er
w

ijd
er

en
. K

aa
l p

la
at

w
er

k 
en

 b
oo

r-
ga

te
n 

di
en

t m
en

 v
an

 e
en

 ro
es

tw
er

en
de

 p
rim

er
 te

vo
or

zi
en

.

•
K

op
pe

l 
de

 u
itl

aa
td

em
pe

r 
lo

s 
en

 d
em

on
te

er
 d

e 
bu

m
pe

r.

•
V

er
w

ijd
er

 a
ch

te
r 

cr
os

sm
em

be
r 

va
st

ge
m

aa
kt

 m
et

 d
e 

ac
ht

er
m

uu
r 

va
n 

he
t 

vo
er

tu
ig

.

•
P

la
at

s 
de

 tr
ek

ha
ak

 “
1”

 o
p 

de
 p

la
te

n 
va

n 
de

 d
w

ar
sb

al
k,

 t.
p.

v.
 d

e 
bo

ut
en

 in
 d

e 
ac

ht
er

w
an

d
va

n 
he

t 
vo

er
tu

ig
 n

ad
at

 d
e 

be
ve

st
ig

in
gs

m
oe

re
n 

zi
jn

 l
os

ge
dr

aa
id

. 
B

ev
es

tig
 t

.p
.v

. 
he

t 
ga

t
“2

” 
m

et
 d

e 
bo

ut
 M

8x
30

 e
n 

m
et

 d
e 

bi
jg

el
ev

er
de

 m
oe

re
n 

M
8.

   
   

   
  N

a 
he

t v
as

tm
ak

en
 v

an
 h

et
 a

pp
ar

aa
t, 

ve
rz

eg
el

 d
e 

pl
at

en
 v

an
 c

ro
ss

m
em

be
r 

m
et

  
  

  
  

  
 a

an
ge

w
ez

en
 m

at
er

ia
al

, 
te

 v
er

m
ijd

en
 d

at
 d

e 
lo

ss
in

g 
va

n 
da

m
pe

n 
in

 d
e 

lic
ha

am
sc

el
   

   
   

  v
an

 h
et

 v
oe

rt
ui

g 
ko

m
t.

•
S

la
 d

e 
bi

nn
en

be
kl

ed
in

g 
va

n 
de

 k
of

fe
rb

ak
 t

er
ug

 e
n 

pl
aa

ts
 a

an
 d

e 
bi

nn
en

zi
jd

e 
va

n 
de

lin
ke

r 
ko

ke
rb

al
k 

de
 p

la
at

 «
3»

 t
.p

.v
. h

et
 b

es
ta

an
de

 g
at

 in
 d

e 
bo

de
m

. B
ev

es
tig

en
 m

et
 e

en
bo

ut
 M

12
x4

0.

•
D

ez
el

fd
e 

ha
nd

el
in

g 
ve

rr
ic

ht
en

 a
an

 d
e 

re
ch

te
r 

zi
jd

e 
va

n 
he

t 
vo

er
tu

ig
 g

eb
ru

ik
m

ak
en

d
va

n 
de

 p
la

at
 “

4”
.

•
M

on
te

er
 d

e 
ui

tla
at

de
m

pe
r 

op
ni

eu
w

.

•
D

ra
ai

 a
lle

 b
ou

te
n 

en
 m

oe
re

n 
aa

n.
 M

on
te

er
 d

e 
ko

ge
l 

m
et

 d
e 

bo
ut

en
 M

12
x6

5 
en

 d
e

st
ek

ke
rp

la
at

, 
zo

al
s 

in
 h

et
 s

ch
em

a 
is

 a
an

ge
ge

ve
n.

 M
on

te
er

 d
e 

st
ek

ke
rd

oo
s 

op
 d

e
st

ek
ke

rp
la

at
 e

n 
sl

ui
t 

de
 b

ed
ra

di
ng

 a
an

 o
ve

re
en

ko
m

st
ig

 d
e 

bi
j 

 d
e 

ka
be

ls
et

 g
ev

oe
gd

e
ha

nd
le

id
in

g 
en

 h
et

 in
st

ru
ct

ie
bo

ek
je

 v
an

 h
et

 v
oe

rt
ui

g.
 M

on
te

er
 t

en
sl

ot
te

 d
e 

bu
m

pe
r.

G
E

B
R

U
IK

 E
N

 O
N

D
E

R
H

O
U

D
1.

M
en

 d
ie

nt
 h

et
 k

og
el

de
el

 s
ch

oo
n 

en
 in

ge
ve

t t
e 

be
w

ar
en

. D
e 

di
am

et
er

 v
an

 d
e 

ko
ge

lk
op

 (5
0m

m
)

di
en

t 
m

en
 r

eg
el

m
at

ig
 t

e 
co

nt
ro

le
re

n.
 Z

od
ra

 d
e 

di
am

et
er

 o
p 

ee
n 

w
ill

ek
eu

rig
e 

pl
aa

ts
 i

s
ve

rm
in

de
rd

 to
t 4

9 
m

m
 m

ag
 m

en
 h

et
 k

og
el

de
el

 o
m

 v
ei

lig
he

id
sr

ed
en

en
 n

ie
t m

ee
r g

eb
ru

ik
en

.
2.

A
fn

ee
m

ba
re

 s
ys

te
m

en
 d

ie
nt

 m
en

 t
e 

co
nt

ro
le

re
n 

op
 e

en
 s

pe
lin

gv
ri

je
 v

er
bi

nd
in

g 
va

n
ko

g
e

l
m

et
 s

ys
te

em
. 

D
ra

ag
 z

or
g 

vo
or

 h
et

 s
ch

oo
nh

ou
de

n 
en

 s
m

er
en

 v
an

 b
ei

de
.

3.
H

et
 is

 a
an

 th
e 

be
ve

le
n 

om
 n

a 
ca

. 1
00

0 
K

m
 g

eb
ru

ik
 d

e 
bo

ut
ve

rb
in

di
ng

en
 o

ve
re

en
ko

m
st

ig
d

e
ta

be
l  

na
 te

 tr
ek

ke
n.

N
L

Fi
tti

ng
 in

st
ru

ct
io

ns
M

ak
e:

   
   

   
 F

ia
t

Pa
nd

a 
4W

D
 ‘0

4;
 2

00
4-

>
Ve

hi
cl

e 
m

od
el

 c
od

e:
16

9
 Ty

pe
: 4

29
5



4295 / 24.05.2004 / 2

TREKHAAK TYPE
TOWING BRACKET TYPE

ANHÄNGEVORRICHTUNG TYP
DISPOSITIF DE REMORQUAGE TYPE

ENGANCHE DE REMOLQUE TIPO
DISPOSITIVO DI TRAINO TIPO

4295

KOPPELINGSKLASSE
CLASS AND HITCH TYPE

KLASSE UND BEFESTIGUNGSART
CLASSE ET TYPE DE CROCHET

CLASES DE ACOPLAMIENTO
CLASSE E TIPO DI ATTACCO

NR. TYPEGOEDKEURING
HOMOLOGATION

ZULASSUNGS
HOMOLOGATION

APROBACIÓN
OMOLOGAZIONE

D. WAARDE
D VALUE

D - WERT
VALEUR D

VALOR D
VALORE D

MAX. VERTIKALE LAST
MAX. VERTICAL MASS

ZUL. STÜTZLAST
MASSE VERTICALE MAXIMUM

CARGA MÁX. VERTICAL
CARICO VERTICALE MAX.

Tested in accordance with directives 94/20/CEE

e11  00-4983 A 50 - X

6.16 kN60 kg

{
AANHAALMOMENTEN VOOR BOUTEN EN MOERENM6=9.5Nm

TORQUE SETTINGS FOR NUTS AND BOLTSM8=23Nm

SCHRAUBENANZUGSMOMENTM10=46Nm

COUPLE DE SERRAGE POUR VISM12=79Nm

MOM. DE PRESIÓN PARA TORNILLOS Y TUERCASM14=125Nm

COPPIA DI SERRAGGIO PER VITIM16=195Nm

D =

Max   kgMax   kg

Max   kgMax   kg
X  0,00981 ≤ 6.16 kN

x

+

4295 / 24.05.2004 / 11 4295 / 24.05.2004 / 2

TREKHAAK TYPE
TOWING BRACKET TYPE

ANHÄNGEVORRICHTUNG TYP
DISPOSITIF DE REMORQUAGE TYPE

ENGANCHE DE REMOLQUE TIPO
DISPOSITIVO DI TRAINO TIPO

4295

KOPPELINGSKLASSE
CLASS AND HITCH TYPE

KLASSE UND BEFESTIGUNGSART
CLASSE ET TYPE DE CROCHET

CLASES DE ACOPLAMIENTO
CLASSE E TIPO DI ATTACCO

NR. TYPEGOEDKEURING
HOMOLOGATION

ZULASSUNGS
HOMOLOGATION

APROBACIÓN
OMOLOGAZIONE

D. WAARDE
D VALUE

D - WERT
VALEUR D

VALOR D
VALORE D

MAX. VERTIKALE LAST
MAX. VERTICAL MASS

ZUL. STÜTZLAST
MASSE VERTICALE MAXIMUM

CARGA MÁX. VERTICAL
CARICO VERTICALE MAX.

Tested in accordance with directives 94/20/CEE

e11  00-4983 A 50 - X

6.16 kN60 kg

{
AANHAALMOMENTEN VOOR BOUTEN EN MOERENM6=9.5Nm

TORQUE SETTINGS FOR NUTS AND BOLTSM8=23Nm

SCHRAUBENANZUGSMOMENTM10=46Nm

COUPLE DE SERRAGE POUR VISM12=79Nm

MOM. DE PRESIÓN PARA TORNILLOS Y TUERCASM14=125Nm

COPPIA DI SERRAGGIO PER VITIM16=195Nm

D =

Max   kgMax   kg

Max   kgMax   kg
X  0,00981 ≤ 6.16 kN

x

+

4295 / 24.05.2004 / 11



Fi
tti

ng
 in

st
ru

ct
io

ns
M

ak
e:

   
   

   
 F

ia
t

Pa
nd

a 
4W

D
 ‘0

4;
 2

00
4-

>
Ve

hi
cl

e 
m

od
el

 c
od

e:
16

9
 Ty

pe
: 4

29
5

42
95

 /
 2

4.
05

.2
00

4 
/ 

3

Tr
ek

ha
ak

 ty
pe

:
42

95
V

oe
rt

ui
g 

ty
pe

:
F

IA
T

 P
A

N
D

A
 4

W
D

 ‘0
4

O
P

M
E

R
K

IN
G

E
N

:
1.

V
oo

r 
m

on
ta

ge
 d

ie
nt

 m
en

 te
 c

on
tr

ol
er

en
 o

f d
e 

te
 m

on
te

re
n 

tr
ek

ha
ak

, v
oo

r 
he

t v
oe

rt
ui

g 
de

ju
is

te
 is

.
2.

O
m

 v
ei

lig
he

id
sr

ed
en

en
 m

ag
 d

e 
tr

ek
ha

ak
 a

lle
en

 d
oo

r 
va

kk
un

di
g 

pe
rs

on
ee

l g
em

on
te

er
d

w
or

de
n.

3.
B

es
ch

ad
ig

de
 o

nd
er

de
le

n 
m

og
en

 a
lle

en
 v

er
va

ng
en

 w
or

de
n 

do
or

 o
rig

in
el

e 
on

de
rd

el
en

,
ge

m
on

te
er

d 
do

or
 v

ak
ku

nd
ig

 p
er

so
ne

el
.

4.
A

an
 d

e 
tr

ek
ha

ak
 m

og
en

 g
ee

n 
ve

ra
nd

er
in

ge
n 

pl
aa

ts
vi

nd
en

5.
 W

an
ne

er
 d

e 
ko

ge
l ,

 z
on

de
r a

an
ha

ng
er

, d
e 

zi
ch

tb
aa

rh
ei

d 
va

n 
de

 n
um

m
er

pl
aa

t b
eh

in
de

rt
,

di
en

t m
en

 h
et

 a
fn

ee
m

ba
re

 d
ee

l v
an

 d
e 

tr
ek

ha
ak

 te
 d

em
on

te
re

n.

M
O

N
TA

G
E

H
A

N
D

L
E

ID
IN

G
:

In
di

en
 t.

p.
v.

 d
e 

be
ve

st
ig

in
gs

pu
nt

en
 e

en
 b

itu
m

en
 la

ag
 o

f a
nt

i-d
re

un
la

ag
 a

an
w

ez
ig

 is
, d

ie
nt

 m
en

de
ze

 te
 v

er
w

ijd
er

en
. K

aa
l p

la
at

w
er

k 
en

 b
oo

r-
ga

te
n 

di
en

t m
en

 v
an

 e
en

 ro
es

tw
er

en
de

 p
rim

er
 te

vo
or

zi
en

.

•
K

op
pe

l 
de

 u
itl

aa
td

em
pe

r 
lo

s 
en

 d
em

on
te

er
 d

e 
bu

m
pe

r.

•
V

er
w

ijd
er

 a
ch

te
r 

cr
os

sm
em

be
r 

va
st

ge
m

aa
kt

 m
et

 d
e 

ac
ht

er
m

uu
r 

va
n 

he
t 

vo
er

tu
ig

.

•
P

la
at

s 
de

 tr
ek

ha
ak

 “
1”

 o
p 

de
 p

la
te

n 
va

n 
de

 d
w

ar
sb

al
k,

 t.
p.

v.
 d

e 
bo

ut
en

 in
 d

e 
ac

ht
er

w
an

d
va

n 
he

t 
vo

er
tu

ig
 n

ad
at

 d
e 

be
ve

st
ig

in
gs

m
oe

re
n 

zi
jn

 l
os

ge
dr

aa
id

. 
B

ev
es

tig
 t

.p
.v

. 
he

t 
ga

t
“2

” 
m

et
 d

e 
bo

ut
 M

8x
30

 e
n 

m
et

 d
e 

bi
jg

el
ev

er
de

 m
oe

re
n 

M
8.

   
   

   
  N

a 
he

t v
as

tm
ak

en
 v

an
 h

et
 a

pp
ar

aa
t, 

ve
rz

eg
el

 d
e 

pl
at

en
 v

an
 c

ro
ss

m
em

be
r 

m
et

  
  

  
  

  
 a

an
ge

w
ez

en
 m

at
er

ia
al

, 
te

 v
er

m
ijd

en
 d

at
 d

e 
lo

ss
in

g 
va

n 
da

m
pe

n 
in

 d
e 

lic
ha

am
sc

el
   

   
   

  v
an

 h
et

 v
oe

rt
ui

g 
ko

m
t.

•
S

la
 d

e 
bi

nn
en

be
kl

ed
in

g 
va

n 
de

 k
of

fe
rb

ak
 t

er
ug

 e
n 

pl
aa

ts
 a

an
 d

e 
bi

nn
en

zi
jd

e 
va

n 
de

lin
ke

r 
ko

ke
rb

al
k 

de
 p

la
at

 «
3»

 t
.p

.v
. h

et
 b

es
ta

an
de

 g
at

 in
 d

e 
bo

de
m

. B
ev

es
tig

en
 m

et
 e

en
bo

ut
 M

12
x4

0.

•
D

ez
el

fd
e 

ha
nd

el
in

g 
ve

rr
ic

ht
en

 a
an

 d
e 

re
ch

te
r 

zi
jd

e 
va

n 
he

t 
vo

er
tu

ig
 g

eb
ru

ik
m

ak
en

d
va

n 
de

 p
la

at
 “

4”
.

•
M

on
te

er
 d

e 
ui

tla
at

de
m

pe
r 

op
ni

eu
w

.

•
D

ra
ai

 a
lle

 b
ou

te
n 

en
 m

oe
re

n 
aa

n.
 M

on
te

er
 d

e 
ko

ge
l 

m
et

 d
e 

bo
ut

en
 M

12
x6

5 
en

 d
e

st
ek

ke
rp

la
at

, 
zo

al
s 

in
 h

et
 s

ch
em

a 
is

 a
an

ge
ge

ve
n.

 M
on

te
er

 d
e 

st
ek

ke
rd

oo
s 

op
 d

e
st

ek
ke

rp
la

at
 e

n 
sl

ui
t 

de
 b

ed
ra

di
ng

 a
an

 o
ve

re
en

ko
m

st
ig

 d
e 

bi
j 

 d
e 

ka
be

ls
et

 g
ev

oe
gd

e
ha

nd
le

id
in

g 
en

 h
et

 in
st

ru
ct

ie
bo

ek
je

 v
an

 h
et

 v
oe

rt
ui

g.
 M

on
te

er
 t

en
sl

ot
te

 d
e 

bu
m

pe
r.

G
E

B
R

U
IK

 E
N

 O
N

D
E

R
H

O
U

D
1.

M
en

 d
ie

nt
 h

et
 k

og
el

de
el

 s
ch

oo
n 

en
 in

ge
ve

t t
e 

be
w

ar
en

. D
e 

di
am

et
er

 v
an

 d
e 

ko
ge

lk
op

 (5
0m

m
)

di
en

t 
m

en
 r

eg
el

m
at

ig
 t

e 
co

nt
ro

le
re

n.
 Z

od
ra

 d
e 

di
am

et
er

 o
p 

ee
n 

w
ill

ek
eu

rig
e 

pl
aa

ts
 i

s
ve

rm
in

de
rd

 to
t 4

9 
m

m
 m

ag
 m

en
 h

et
 k

og
el

de
el

 o
m

 v
ei

lig
he

id
sr

ed
en

en
 n

ie
t m

ee
r g

eb
ru

ik
en

.
2.

A
fn

ee
m

ba
re

 s
ys

te
m

en
 d

ie
nt

 m
en

 t
e 

co
nt

ro
le

re
n 

op
 e

en
 s

pe
lin

gv
ri

je
 v

er
bi

nd
in

g 
va

n
ko

g
e

l
m

et
 s

ys
te

em
. 

D
ra

ag
 z

or
g 

vo
or

 h
et

 s
ch

oo
nh

ou
de

n 
en

 s
m

er
en

 v
an

 b
ei

de
.

3.
H

et
 is

 a
an

 th
e 

be
ve

le
n 

om
 n

a 
ca

. 1
00

0 
K

m
 g

eb
ru

ik
 d

e 
bo

ut
ve

rb
in

di
ng

en
 o

ve
re

en
ko

m
st

ig
d

e
ta

be
l  

na
 te

 tr
ek

ke
n.

N
L



4295 / 24.05.2004 / 4

Towing bracket type:4295
For cars:FIAT PANDA 4WD ‘04

SAFETY  INSTRUCTIONS:
1.Make sure the towbar is suitable for the vehicle before starting the installation activity.

2.For safety, all work involving tow-bar installation (including electrical components) must
be undertaken by skilled technicians.

3.Damaged components must be replaced with manufacturer’s spares and fitted by
qualified staff.

4.It is forbidden to make any modification or structural repair to towing assembly.

5. In absence of the trailer, if the towball limits the view of the numberplate, remove the
detachable part of the towbar.

FITTING INSTRUCTIONS:
Remove and scrape all underseal from areas which may come in contact with tow-bar assembly
and recoat areas with rust proof paint.
•Lower the silencer and release it, remove the rear bumper.

•Remove the back crossmember fastened with the back wall of the vehicle.

•Place the towbar “1” on the fixing plates of the impact cross-beam making reference to
the stud bolts located on the vehicle rear panel after having unscrewed the nuts. Fasten
with the M8x30 bolt on hole “2” and with M8 nuts supplied.

            After fastening the device, seal the plates of the crossmember with appropriate material,
    in order to avoid that the discharge of fumes comes into the body cell of the vehicle.

•Place the towbar “1” on the fixing plates of the impact cross-beam making reference to
the stud bolts located on the vehicle rear panel after having unscrewed the nuts. Fasten
with the M8x30 bolt on hole “2” and with M8 nuts supplied.

•Lift up the internal boot lining and position the spreader plate “3” inside the left side-
member using the slot on the floor; then fasten with a M12x40 bolt.

•Repeat the same procedure on the vehicle right side using the spreader plate “4”.

•Attach the silencer.

•Torque all bolts to recommended values, fit the ball using the M12x65 bolts, and the
socket-plate as shown in the picture. Fit the electrical socket and complete all electrical
connections following the instructions enclosed with wiring kit and guidelines outlined
in vehicle handbook. Refit the rear bumper.

USE AND MAINTENANCE
1.Tow-bars should be kept clean and lubricated. For added safety, diameter of tow-ball

(50mm) should be checked at regular intervals. If tow-ball measures less than 49 mm,
after selectedreadings across diameter, tow-ball must be replaced with new system.

2.In case of detachable devices, check the absence of backlash between the tow-ball and
the connection device and provide for cleaning and lubrication of them.

3.After 1000 Km of towing, check torque settings for nuts and bolts, in accordance with table:
- (below).

GB

4295 / 24.05.2004 / 9

USO E MANUTENZIONE
1.Mantenere la sfera dell’organo di traino pulita e lubrificata. Per motivi di sicurezza, controlla-

re periodicamente il diametro della sfera; qualora si riscontrasse un diametro di 49mm dopo
ripetute misurazioni in diversi punti della sfera, l’organo di traino non potrà più essere utiliz-
zato fino a sostituzione avvenuta della predetta sfera.

2.Nel caso di dispositivi smontabili, controllare la mancanza di giochi tra gli accoppia-
menti sfera - dispositivo di attacco e provvedere alla pulizia ed alla lubrificazione degli
stessi.

3.Verificare il perfetto serraggio di tutte le viti dopo circa 1000 km di traino.

Dispositivo di traino tipo:4295
Per autoveicoli:FIAT PANDA 4WD ‘04

Tipo:169????? ??   oppure   169????? ???

•Larghezza max. rimorchiabile per Caravan e T.A.T.S.:  2,30 m
(Larghezza motrice +70cm = .... Arrotondare ai 5cm superiori)
(vedi D.M. 28/05/85) - (Circolare D.C. IV n.B100).

•Massa max. rimorchiabile: vedere CARTA di CIRCOLAZIONE del veicolo

DICHIARAZIONE DI CORRETTO MONTAGGIO
Si Ditta dichiara di aver montato in maniera corretta ed in conformità alle prescrizioni sia
del costruttore del veicolo che del costruttore del dispositivo stesso il seguente dispositivo
di attacco meccanico:

tipo:.........................................................costruttore:........................................................

Il dispositivo di attacco meccanico sopra descritto è stato installato su autoveicolo

tipo:.........................................................targa:.................................................................

Si dichiara inoltre di aver informato l’utente del veicolo sull’USO e MANUTENZIONE
del dispositivo stesso.

Data...............................................................

DA COMPILARE PER IL COLLAUDO

TIMBRO E FIRMA

4295 / 24.05.2004 / 4

Towing bracket type:4295
For cars:FIAT PANDA 4WD ‘04

SAFETY  INSTRUCTIONS:
1.Make sure the towbar is suitable for the vehicle before starting the installation activity.

2.For safety, all work involving tow-bar installation (including electrical components) must
be undertaken by skilled technicians.

3.Damaged components must be replaced with manufacturer’s spares and fitted by
qualified staff.

4.It is forbidden to make any modification or structural repair to towing assembly.

5. In absence of the trailer, if the towball limits the view of the numberplate, remove the
detachable part of the towbar.

FITTING INSTRUCTIONS:
Remove and scrape all underseal from areas which may come in contact with tow-bar assembly
and recoat areas with rust proof paint.
•Lower the silencer and release it, remove the rear bumper.

•Remove the back crossmember fastened with the back wall of the vehicle.

•Place the towbar “1” on the fixing plates of the impact cross-beam making reference to
the stud bolts located on the vehicle rear panel after having unscrewed the nuts. Fasten
with the M8x30 bolt on hole “2” and with M8 nuts supplied.

            After fastening the device, seal the plates of the crossmember with appropriate material,
    in order to avoid that the discharge of fumes comes into the body cell of the vehicle.

•Place the towbar “1” on the fixing plates of the impact cross-beam making reference to
the stud bolts located on the vehicle rear panel after having unscrewed the nuts. Fasten
with the M8x30 bolt on hole “2” and with M8 nuts supplied.

•Lift up the internal boot lining and position the spreader plate “3” inside the left side-
member using the slot on the floor; then fasten with a M12x40 bolt.

•Repeat the same procedure on the vehicle right side using the spreader plate “4”.

•Attach the silencer.

•Torque all bolts to recommended values, fit the ball using the M12x65 bolts, and the
socket-plate as shown in the picture. Fit the electrical socket and complete all electrical
connections following the instructions enclosed with wiring kit and guidelines outlined
in vehicle handbook. Refit the rear bumper.

USE AND MAINTENANCE
1.Tow-bars should be kept clean and lubricated. For added safety, diameter of tow-ball

(50mm) should be checked at regular intervals. If tow-ball measures less than 49 mm,
after selectedreadings across diameter, tow-ball must be replaced with new system.

2.In case of detachable devices, check the absence of backlash between the tow-ball and
the connection device and provide for cleaning and lubrication of them.

3.After 1000 Km of towing, check torque settings for nuts and bolts, in accordance with table:
- (below).

GB

4295 / 24.05.2004 / 9

USO E MANUTENZIONE
1.Mantenere la sfera dell’organo di traino pulita e lubrificata. Per motivi di sicurezza, controlla-

re periodicamente il diametro della sfera; qualora si riscontrasse un diametro di 49mm dopo
ripetute misurazioni in diversi punti della sfera, l’organo di traino non potrà più essere utiliz-
zato fino a sostituzione avvenuta della predetta sfera.

2.Nel caso di dispositivi smontabili, controllare la mancanza di giochi tra gli accoppia-
menti sfera - dispositivo di attacco e provvedere alla pulizia ed alla lubrificazione degli
stessi.

3.Verificare il perfetto serraggio di tutte le viti dopo circa 1000 km di traino.

Dispositivo di traino tipo:4295
Per autoveicoli:FIAT PANDA 4WD ‘04

Tipo:169????? ??   oppure   169????? ???

•Larghezza max. rimorchiabile per Caravan e T.A.T.S.:  2,30 m
(Larghezza motrice +70cm = .... Arrotondare ai 5cm superiori)
(vedi D.M. 28/05/85) - (Circolare D.C. IV n.B100).

•Massa max. rimorchiabile: vedere CARTA di CIRCOLAZIONE del veicolo

DICHIARAZIONE DI CORRETTO MONTAGGIO
Si Ditta dichiara di aver montato in maniera corretta ed in conformità alle prescrizioni sia
del costruttore del veicolo che del costruttore del dispositivo stesso il seguente dispositivo
di attacco meccanico:

tipo:.........................................................costruttore:........................................................

Il dispositivo di attacco meccanico sopra descritto è stato installato su autoveicolo

tipo:.........................................................targa:.................................................................

Si dichiara inoltre di aver informato l’utente del veicolo sull’USO e MANUTENZIONE
del dispositivo stesso.

Data...............................................................

DA COMPILARE PER IL COLLAUDO

TIMBRO E FIRMA



42
95

 /
 2

4.
05

.2
00

4 
/ 

8

I
D

is
po

si
tiv

o 
di

 t
ra

in
o 

tip
o:

42
95

P
er

 a
ut

ov
ei

co
li:

F
IA

T
 P

A
N

D
A

 4
W

D
 ‘0

4

N
O

T
E

 IN
F

O
R

M
A

T
IV

E
:

1.
P

rim
a 

di
 in

iz
ia

re
 q

ua
ls

ia
si

 a
tti

vi
tà

 d
i i

ns
ta

lla
zi

on
e 

as
si

cu
ra

rs
i c

he
 l’

or
ga

no
 d

i t
ra

in
o 

in
  o

gg
et

to
si

a 
ad

at
to

 p
er

 il
 v

ei
co

lo
 s

ul
 q

ua
le

 lo
 s

i i
nt

en
de

 in
st

al
la

re
. P

er
 e

ve
nt

ua
li 

ch
ia

rim
en

ti 
ch

ia
m

ar
e

il:
 (T

el
.n

°0
52

2/
83

42
13

 - 
05

22
/8

34
20

6)
.

2.
L’

or
ga

no
 d

i t
ra

in
o 

è 
un

 e
le

m
en

to
 d

i s
ic

ur
ez

za
 e

 c
om

e 
ta

le
 d

ev
e 

es
se

re
 in

st
al

la
to

 s
ol

ta
nt

o 
da

pe
rs

on
al

e 
sp

ec
ia

liz
za

to
.

3.
E

ve
nt

ua
li 

pe
zz

i d
an

ne
gg

ia
ti 

o 
us

ur
at

i d
ev

on
o 

es
se

re
 s

os
tit

ui
ti 

co
n 

ric
am

bi
 o

rig
in

al
i d

a
pe

rs
on

al
e 

sp
ec

ia
liz

za
to

.
4.

E
’ p

ro
ib

ito
 e

ffe
ttu

ar
e 

qu
al

si
as

i m
od

ifi
ca

 s
os

ta
nz

ia
le

 o
 ri

pa
ra

zi
on

e 
st

ru
ttu

ra
le

 s
ul

l’o
rg

an
o 

di
tra

in
o.

5.
 In

 a
ss

en
za

 d
el

 ri
m

or
ch

io
, n

el
 c

as
o 

la
 s

fe
ra

 li
m

iti
 la

 v
is

ib
ili

tà
 d

el
la

 ta
rg

a,
 s

m
on

ta
re

 la
pa

rt
e 

es
tr

ai
bi

le
 d

el
 d

is
po

si
tiv

o 
di

 tr
ai

no
.

IS
T

R
U

Z
IO

N
I D

I M
O

N
TA

G
G

IO
:

R
im

u
o

ve
re

 g
li 

ev
en

tu
al

i m
as

tic
i d

i p
ro

te
zi

on
e 

ne
lle

 z
on

e 
di

 c
on

ta
tto

 fr
a 

sc
oc

ca
 d

el
 v

ei
co

lo
 e

di
sp

os
iti

vo
 d

i t
ra

in
o;

 e
d 

ev
en

tu
al

m
en

te
 v

er
ni

ci
ar

e 
le

 p
ar

ti 
sc

op
er

te
 c

on
 v

er
ni

ce
 a

nt
iru

gg
in

e.

•
A

bb
as

sa
re

 i
l 

si
le

nz
ia

to
re

 s
co

lle
ga

nd
ol

o 
e 

sm
on

ta
re

 i
l 

pa
ra

ur
ti 

po
st

er
io

re
.

•
S

m
on

ta
re

 la
 t

ra
ve

rs
a 

ur
to

 p
os

te
rio

re
 f

is
sa

ta
 a

lla
 p

ar
et

e 
po

st
er

io
re

 d
el

la
 v

et
tu

ra
.

•
P

os
iz

io
na

re
 l

a 
tr

av
er

sa
 d

el
 d

is
po

si
tiv

o 
di

 t
ra

in
o 

“1
” 

su
lle

 p
ia

st
re

 d
el

la
 t

ra
ve

rs
a 

ur
to

 e
fa

ce
nd

o 
rif

er
im

en
to

 a
lle

 v
iti

 p
rig

io
ni

er
e 

pr
es

en
ti 

su
lla

 p
ar

et
e 

po
st

er
io

re
 v

et
tu

ra
, 

fis
sa

re
co

n 
la

 v
ite

 M
8x

30
 s

ul
 f

or
o 

“2
” 

e 
co

n 
i d

ad
i M

8 
in

 d
ot

az
io

ne
.

  
  

  
  

  
D

op
o 

il 
fis

sa
gg

io
 d

el
 d

is
po

si
tiv

o 
si

gi
lla

re
 le

 p
ia

st
re

 d
el

la
 t

ra
ve

rs
a 

ur
to

, 
co

n 
m

at
er

ia
le

  
  

op
po

rt
un

o,
 a

ffi
nc

hé
 s

i e
vi

ti 
ch

e 
i f

um
i d

i s
ca

ric
o 

en
tr

in
o 

ne
ll’

ab
ita

co
lo

.

•
A

lz
ar

e 
il 

riv
es

tim
en

to
 i

nt
er

no
 d

el
 v

an
o 

ba
ga

gl
i 

e 
po

si
zi

on
ar

e 
al

l’i
nt

er
no

 d
el

 l
on

gh
er

on
e

si
ni

st
ro

 l
a 

co
nt

ro
pi

as
tr

a 
“3

”,
 u

til
iz

za
nd

o 
l’a

so
la

 e
si

st
en

te
 s

ul
 p

av
im

en
to

 e
 f

is
sa

re
 u

til
iz

-
za

nd
o 

un
a 

vi
te

 M
12

x4
0.

•
E

ffe
ttu

ar
e 

ta
li 

op
er

az
io

ni
 s

ul
 la

to
 d

es
tr

o 
de

lla
 v

et
tu

ra
 a

vv
al

en
do

si
 d

el
la

 c
on

tr
op

ia
st

ra
 “

4”
.

•
R

ia
gg

an
ci

ar
e 

il 
si

le
nz

ia
to

re
.

•
S

er
ra

re
 a

 fo
nd

o 
la

 b
ul

lo
ne

ria
; m

on
ta

re
 la

 s
fe

ra
 u

til
iz

za
nd

o 
le

 v
iti

 M
12

x6
5 

ed
 il

 p
or

ta
pr

es
a,

co
m

e 
in

di
ca

to
 n

el
lo

 s
ch

em
a 

di
 m

on
ta

gg
io

. 
M

on
ta

re
 la

 p
re

sa
 d

i c
or

re
nt

e 
ed

 e
ffe

ttu
ar

e 
i

co
lle

ga
m

en
ti 

el
et

tr
ic

i 
se

gu
en

do
 l

e 
is

tr
uz

io
ni

 a
lle

ga
te

 a
lla

 c
on

fe
zi

on
e 

de
i 

ca
vi

 p
er

 i
l

ca
bl

ag
gi

o 
e 

le
 is

tr
uz

io
ni

 r
ip

or
ta

te
 s

ul
 li

br
et

to
 d

’u
so

 e
 m

an
ut

en
zi

on
e 

de
lla

 v
et

tu
ra

. 
In

fin
e

rim
on

ta
re

 i
l 

pa
ra

ur
ti 

po
st

er
io

re
.

Is
tr

u
zi

o
n

i d
a 

co
n

se
rv

ar
e 

in
 f

as
e 

d
i c

o
lla

u
d

o

42
95

 /
 2

4.
05

.2
00

4 
/ 

5

D
K

up
pl

un
gs

ku
ge

l 
Ty

p:
42

95
fü

r 
Fa

hr
ze

ug
e:

F
IA

T
 P

A
N

D
A

 4
W

D
 ‘0

4

IN
F

O
R

M
A

T
IV

E
 E

R
K

L
A

E
R

U
N

G
E

N
:

1.
B

ev
or

 je
gl

ic
he

 E
in

ba
ue

in
gr

iff
e 

vo
rg

en
om

m
en

 w
er

de
n,

 is
t s

ic
he

rz
us

te
lle

n,
 d

aß
 d

ie
 b

et
re

ffe
nd

e
K

up
pl

un
gs

ku
ge

l f
ür

 d
as

 F
ah

rz
eu

g 
ge

ei
gn

et
 is

t, 
an

 w
el

ch
em

 s
ie

 e
in

zu
ba

ue
n 

is
t.

2.
D

ie
 K

up
pl

un
gs

ku
ge

l 
is

t 
ei

n 
S

ic
he

rh
ei

ts
or

ga
n 

un
d 

al
s 

so
lc

he
s 

nu
r 

du
rc

h 
 F

ac
hl

eu
te

ei
nz

ub
au

en
.

3.
E

ve
nt

ue
ll 

be
sc

ha
ed

ig
te

 b
zw

. a
bg

en
ut

zt
e 

Te
ile

 s
in

d 
nu

r 
m

it 
O

rig
in

al
-E

rs
at

zt
ei

le
n 

 d
ur

ch
Fa

ch
le

ut
e 

zu
 e

rs
et

ze
n.

4.
K

ei
ne

 w
es

en
tli

ch
e 

A
ba

en
de

ru
ng

 b
zw

. K
on

st
ru

kt
io

ns
re

pa
ra

tu
r a

n 
de

r A
nh

ae
ng

ev
or

ric
ht

un
g

vo
rn

eh
m

en
.

5.
 F

al
ls

 d
ie

 K
ug

el
  (

oh
ne

 A
nh

än
ge

r)
 d

ie
 K

en
nz

ei
ch

en
-S

ic
ht

ba
rk

ei
t b

ee
in

tr
äc

ht
ig

t, 
 is

t d
er

ab
ne

hm
ba

re
 T

ei
l d

er
 Z

ug
vo

rr
ic

ht
un

g 
ab

zu
m

on
tie

re
n.

M
O

N
TA

G
E

A
N

L
E

IT
U

N
G

:

D
ie

 i
n 

de
n 

B
er

üh
ru

ng
sp

un
kt

en
 z

w
is

ch
en

 F
ah

rz
eu

ga
uf

au
 u

nd
 K

up
pl

un
gs

ku
ge

l 
ev

en
tu

el
l

vo
rh

a
n

d
e

n
e

 S
ch

u
tz

d
ic

h
tm

a
ss

e
 e

n
tf

e
rn

e
n

 u
n

d
 e

vt
. 

d
ie

 u
n

g
e

d
e

ck
te

n
 T

e
ile

n
 m

it
R

os
ts

ch
ut

zf
ar

be
 a

ns
tr

ei
ch

en
.

•
D

en
 S

ch
al

ld
äm

pf
er

 h
er

ab
se

tz
en

 u
nd

 a
us

lö
se

n,
 d

ie
 H

ec
k-

S
to

ß
st

an
ge

  
ab

m
on

tie
re

n.

•
B

au
en

 d
en

 S
to

ß
qu

er
tr

äg
er

 -
 d

er
 a

n 
de

r 
W

ag
en

-R
üc

kw
an

d 
be

fe
st

ig
t 

is
t 

– 
ab

.

•
D

ie
 A

nh
än

ge
rv

or
ric

ht
un

g 
„1

“ 
an

 d
en

 B
ef

es
tig

un
gs

pl
at

te
n 

de
s 

S
to

ß
-Q

ue
rt

rä
ge

rs
 p

os
iti

o-
ni

er
en

 u
nd

 z
w

ar
 i

n 
be

zu
g 

au
f 

 d
ie

 S
tif

ts
ch

ra
ub

en
 a

n 
de

r 
R

üc
kw

an
d 

de
s 

Fa
hr

ze
ug

es
,

na
ch

de
m

 d
ie

 B
ef

es
tig

un
gs

m
ut

te
rn

 g
el

ös
t 

w
or

de
n 

si
nd

. 
D

an
n 

m
it 

S
ch

ra
ub

e 
M

8x
30

 a
n

de
r 

B
oh

ru
ng

 „
2“

 u
nd

 d
en

 m
itg

el
ie

fe
rt

en
 M

ut
te

rn
 M

8 
fix

ie
re

n.

  
  

  
  

  
N

ac
h 

de
r 

B
ef

es
tig

un
g 

de
r V

or
ric

ht
un

g,
 d

ie
 S

to
ß

qu
er

tr
äg

er
-P

la
tte

n 
ve

rs
ie

ge
ln

, u
m

 z
u

  
  

ve
rm

ei
de

n,
 d

as
s 

da
s 

A
bg

as
 in

 d
en

 F
ah

rz
eu

gs
ra

um
 e

in
tr

itt
.

•
D

ie
 K

of
fe

rr
au

m
-I

nn
en

ve
rk

le
id

un
g 

an
he

be
n 

un
d 

in
 d

en
 l

in
ke

n 
Lä

ng
st

rä
ge

r 
di

e 
G

eg
en

-
pl

at
te

 „
3“

 p
os

iti
on

ie
re

n,
 i

nd
em

 d
as

 L
an

gl
oc

h 
am

 B
od

en
 b

en
ut

zt
 w

er
de

n.
 D

an
ac

h 
m

it
ei

ne
r 

S
ch

ra
ub

e 
M

12
x4

0 
fix

ie
re

n.

•
D

ie
 g

le
ic

he
 A

rb
ei

t i
st

 a
uc

h 
au

f d
er

 r
ec

ht
en

 S
ei

te
 d

es
 F

ah
rz

eu
ge

s 
– 

m
it 

de
r 

G
eg

en
pl

at
te

4 
 -

 a
us

zu
fü

hr
en

.

•
D

en
 S

ch
al

ld
äm

pf
er

  
w

ie
de

r 
ei

ns
et

ze
n.

•
S

ch
ra

ub
en

 u
nd

 M
ut

te
rn

 fe
st

 a
nz

ie
he

n,
 d

ie
 K

ug
el

 m
it 

S
ch

ra
ub

en
 M

12
x6

5 
un

d 
de

n 
D

os
en

-
ha

lte
r 

na
ch

 d
er

 M
on

ta
ge

ze
ic

hn
un

g 
m

on
tie

re
n.

  
D

ie
 S

te
ck

do
se

 u
nd

 d
ie

 e
le

kt
ris

ch
en

A
ns

ch
lü

ss
e 

he
rs

te
lle

n.
 D

ab
ei

 d
ie

 a
m

 E
-S

at
z 

be
ig

el
eg

te
n 

M
on

ta
ge

an
w

ei
su

ng
en

 u
nd

di
e 

G
eb

ra
uc

hs
- 

un
d 

W
ar

tu
ng

sa
nl

ei
tu

ng
 d

es
 F

ah
rz

eu
ge

s 
be

ac
ht

en
. 

Z
ul

et
zt

 d
ie

 H
ec

k-
S

to
ß

st
an

ge
 w

ie
de

r 
m

on
tie

re
n.

G
E

B
R

A
U

C
H

 U
N

D
 W

A
R

T
U

N
G

1.
D

ie
 K

up
pl

un
gs

ku
ge

l i
st

 s
au

be
r u

nd
 e

in
ge

sc
hm

ie
rt

 z
u 

ha
lte

n.
 A

us
 S

ic
he

rh
ei

ts
gr

ue
nd

en
 is

t
de

r K
ug

el
du

rc
hm

es
se

r r
eg

el
m

ae
ss

ig
 n

ac
hz

up
ru

ef
en

. S
ol

lte
 s

ic
h 

da
be

i n
ac

h 
w

ie
de

rh
ol

te
n

M
es

su
ng

en
 a

n 
ve

rs
ch

ie
de

ne
n 

K
up

pl
un

gs
te

ile
n 

ei
n 

D
ur

ch
m

es
se

r v
on

 4
9 

m
m

 h
er

au
ss

te
lle

n,
da

nn
 d

ar
f 

di
e 

ab
ge

nu
tz

te
 K

up
pl

un
gs

ku
ge

l n
ic

ht
 m

eh
r 

ve
rw

en
de

t 
w

er
de

n,
 b

is
 d

ie
 o

be
n

ge
na

nn
te

 K
ug

el
 e

rs
et

zt
 w

or
de

n 
is

t.
2.

Im
 F

al
l g

ib
t 

es
 a

bn
eh

m
ba

re
 E

in
he

ite
n,

 d
ie

 A
bw

es
en

he
it 

de
r 

S
pi

el
rä

um
e 

zw
is

ch
en

 d
en

K
ug

el
sk

up
pl

un
ge

n 
un

d 
de

r V
er

bi
nd

un
gs

vo
rr

ic
ht

un
g 

na
ch

pr
üf

en
 u

nd
 fü

r d
ie

 S
äu

be
ru

ng
 u

nd
di

e 
S

ch
m

ie
ru

ng
 s

or
ge

n.
3.

D
e

r 
vo

llk
o

m
m

e
n

e
 Z

u
g

 s
a

e
m

tli
ch

e
r 

S
ch

ra
u

b
e

n
 i

st
 n

a
ch

 1
0

0
0

 K
m

 Z
ie

h
e

n
 w

ie
d

e
r

na
ch

zu
pr

ue
fe

n.
42

95
 /

 2
4.

05
.2

00
4 

/ 
8

I
D

is
po

si
tiv

o 
di

 t
ra

in
o 

tip
o:

42
95

P
er

 a
ut

ov
ei

co
li:

F
IA

T
 P

A
N

D
A

 4
W

D
 ‘0

4

N
O

T
E

 IN
F

O
R

M
A

T
IV

E
:

1.
P

rim
a 

di
 in

iz
ia

re
 q

ua
ls

ia
si

 a
tti

vi
tà

 d
i i

ns
ta

lla
zi

on
e 

as
si

cu
ra

rs
i c

he
 l’

or
ga

no
 d

i t
ra

in
o 

in
  o

gg
et

to
si

a 
ad

at
to

 p
er

 il
 v

ei
co

lo
 s

ul
 q

ua
le

 lo
 s

i i
nt

en
de

 in
st

al
la

re
. P

er
 e

ve
nt

ua
li 

ch
ia

rim
en

ti 
ch

ia
m

ar
e

il:
 (T

el
.n

°0
52

2/
83

42
13

 - 
05

22
/8

34
20

6)
.

2.
L’

or
ga

no
 d

i t
ra

in
o 

è 
un

 e
le

m
en

to
 d

i s
ic

ur
ez

za
 e

 c
om

e 
ta

le
 d

ev
e 

es
se

re
 in

st
al

la
to

 s
ol

ta
nt

o 
da

pe
rs

on
al

e 
sp

ec
ia

liz
za

to
.

3.
E

ve
nt

ua
li 

pe
zz

i d
an

ne
gg

ia
ti 

o 
us

ur
at

i d
ev

on
o 

es
se

re
 s

os
tit

ui
ti 

co
n 

ric
am

bi
 o

rig
in

al
i d

a
pe

rs
on

al
e 

sp
ec

ia
liz

za
to

.
4.

E
’ p

ro
ib

ito
 e

ffe
ttu

ar
e 

qu
al

si
as

i m
od

ifi
ca

 s
os

ta
nz

ia
le

 o
 ri

pa
ra

zi
on

e 
st

ru
ttu

ra
le

 s
ul

l’o
rg

an
o 

di
tra

in
o.

5.
 In

 a
ss

en
za

 d
el

 ri
m

or
ch

io
, n

el
 c

as
o 

la
 s

fe
ra

 li
m

iti
 la

 v
is

ib
ili

tà
 d

el
la

 ta
rg

a,
 s

m
on

ta
re

 la
pa

rt
e 

es
tr

ai
bi

le
 d

el
 d

is
po

si
tiv

o 
di

 tr
ai

no
.

IS
T

R
U

Z
IO

N
I D

I M
O

N
TA

G
G

IO
:

R
im

u
o

ve
re

 g
li 

ev
en

tu
al

i m
as

tic
i d

i p
ro

te
zi

on
e 

ne
lle

 z
on

e 
di

 c
on

ta
tto

 fr
a 

sc
oc

ca
 d

el
 v

ei
co

lo
 e

di
sp

os
iti

vo
 d

i t
ra

in
o;

 e
d 

ev
en

tu
al

m
en

te
 v

er
ni

ci
ar

e 
le

 p
ar

ti 
sc

op
er

te
 c

on
 v

er
ni

ce
 a

nt
iru

gg
in

e.

•
A

bb
as

sa
re

 i
l 

si
le

nz
ia

to
re

 s
co

lle
ga

nd
ol

o 
e 

sm
on

ta
re

 i
l 

pa
ra

ur
ti 

po
st

er
io

re
.

•
S

m
on

ta
re

 la
 t

ra
ve

rs
a 

ur
to

 p
os

te
rio

re
 f

is
sa

ta
 a

lla
 p

ar
et

e 
po

st
er

io
re

 d
el

la
 v

et
tu

ra
.

•
P

os
iz

io
na

re
 l

a 
tr

av
er

sa
 d

el
 d

is
po

si
tiv

o 
di

 t
ra

in
o 

“1
” 

su
lle

 p
ia

st
re

 d
el

la
 t

ra
ve

rs
a 

ur
to

 e
fa

ce
nd

o 
rif

er
im

en
to

 a
lle

 v
iti

 p
rig

io
ni

er
e 

pr
es

en
ti 

su
lla

 p
ar

et
e 

po
st

er
io

re
 v

et
tu

ra
, 

fis
sa

re
co

n 
la

 v
ite

 M
8x

30
 s

ul
 f

or
o 

“2
” 

e 
co

n 
i d

ad
i M

8 
in

 d
ot

az
io

ne
.

  
  

  
  

  
D

op
o 

il 
fis

sa
gg

io
 d

el
 d

is
po

si
tiv

o 
si

gi
lla

re
 le

 p
ia

st
re

 d
el

la
 t

ra
ve

rs
a 

ur
to

, 
co

n 
m

at
er

ia
le

  
  

op
po

rt
un

o,
 a

ffi
nc

hé
 s

i e
vi

ti 
ch

e 
i f

um
i d

i s
ca

ric
o 

en
tr

in
o 

ne
ll’

ab
ita

co
lo

.

•
A

lz
ar

e 
il 

riv
es

tim
en

to
 i

nt
er

no
 d

el
 v

an
o 

ba
ga

gl
i 

e 
po

si
zi

on
ar

e 
al

l’i
nt

er
no

 d
el

 l
on

gh
er

on
e

si
ni

st
ro

 l
a 

co
nt

ro
pi

as
tr

a 
“3

”,
 u

til
iz

za
nd

o 
l’a

so
la

 e
si

st
en

te
 s

ul
 p

av
im

en
to

 e
 f

is
sa

re
 u

til
iz

-
za

nd
o 

un
a 

vi
te

 M
12

x4
0.

•
E

ffe
ttu

ar
e 

ta
li 

op
er

az
io

ni
 s

ul
 la

to
 d

es
tr

o 
de

lla
 v

et
tu

ra
 a

vv
al

en
do

si
 d

el
la

 c
on

tr
op

ia
st

ra
 “

4”
.

•
R

ia
gg

an
ci

ar
e 

il 
si

le
nz

ia
to

re
.

•
S

er
ra

re
 a

 fo
nd

o 
la

 b
ul

lo
ne

ria
; m

on
ta

re
 la

 s
fe

ra
 u

til
iz

za
nd

o 
le

 v
iti

 M
12

x6
5 

ed
 il

 p
or

ta
pr

es
a,

co
m

e 
in

di
ca

to
 n

el
lo

 s
ch

em
a 

di
 m

on
ta

gg
io

. 
M

on
ta

re
 la

 p
re

sa
 d

i c
or

re
nt

e 
ed

 e
ffe

ttu
ar

e 
i

co
lle

ga
m

en
ti 

el
et

tr
ic

i 
se

gu
en

do
 l

e 
is

tr
uz

io
ni

 a
lle

ga
te

 a
lla

 c
on

fe
zi

on
e 

de
i 

ca
vi

 p
er

 i
l

ca
bl

ag
gi

o 
e 

le
 is

tr
uz

io
ni

 r
ip

or
ta

te
 s

ul
 li

br
et

to
 d

’u
so

 e
 m

an
ut

en
zi

on
e 

de
lla

 v
et

tu
ra

. 
In

fin
e

rim
on

ta
re

 i
l 

pa
ra

ur
ti 

po
st

er
io

re
.

Is
tr

u
zi

o
n

i d
a 

co
n

se
rv

ar
e 

in
 f

as
e 

d
i c

o
lla

u
d

o

42
95

 /
 2

4.
05

.2
00

4 
/ 

5

D
K

up
pl

un
gs

ku
ge

l 
Ty

p:
42

95
fü

r 
Fa

hr
ze

ug
e:

F
IA

T
 P

A
N

D
A

 4
W

D
 ‘0

4

IN
F

O
R

M
A

T
IV

E
 E

R
K

L
A

E
R

U
N

G
E

N
:

1.
B

ev
or

 je
gl

ic
he

 E
in

ba
ue

in
gr

iff
e 

vo
rg

en
om

m
en

 w
er

de
n,

 is
t s

ic
he

rz
us

te
lle

n,
 d

aß
 d

ie
 b

et
re

ffe
nd

e
K

up
pl

un
gs

ku
ge

l f
ür

 d
as

 F
ah

rz
eu

g 
ge

ei
gn

et
 is

t, 
an

 w
el

ch
em

 s
ie

 e
in

zu
ba

ue
n 

is
t.

2.
D

ie
 K

up
pl

un
gs

ku
ge

l 
is

t 
ei

n 
S

ic
he

rh
ei

ts
or

ga
n 

un
d 

al
s 

so
lc

he
s 

nu
r 

du
rc

h 
 F

ac
hl

eu
te

ei
nz

ub
au

en
.

3.
E

ve
nt

ue
ll 

be
sc

ha
ed

ig
te

 b
zw

. a
bg

en
ut

zt
e 

Te
ile

 s
in

d 
nu

r 
m

it 
O

rig
in

al
-E

rs
at

zt
ei

le
n 

 d
ur

ch
Fa

ch
le

ut
e 

zu
 e

rs
et

ze
n.

4.
K

ei
ne

 w
es

en
tli

ch
e 

A
ba

en
de

ru
ng

 b
zw

. K
on

st
ru

kt
io

ns
re

pa
ra

tu
r a

n 
de

r A
nh

ae
ng

ev
or

ric
ht

un
g

vo
rn

eh
m

en
.

5.
 F

al
ls

 d
ie

 K
ug

el
  (

oh
ne

 A
nh

än
ge

r)
 d

ie
 K

en
nz

ei
ch

en
-S

ic
ht

ba
rk

ei
t b

ee
in

tr
äc

ht
ig

t, 
 is

t d
er

ab
ne

hm
ba

re
 T

ei
l d

er
 Z

ug
vo

rr
ic

ht
un

g 
ab

zu
m

on
tie

re
n.

M
O

N
TA

G
E

A
N

L
E

IT
U

N
G

:

D
ie

 i
n 

de
n 

B
er

üh
ru

ng
sp

un
kt

en
 z

w
is

ch
en

 F
ah

rz
eu

ga
uf

au
 u

nd
 K

up
pl

un
gs

ku
ge

l 
ev

en
tu

el
l

vo
rh

a
n

d
e

n
e

 S
ch

u
tz

d
ic

h
tm

a
ss

e
 e

n
tf

e
rn

e
n

 u
n

d
 e

vt
. 

d
ie

 u
n

g
e

d
e

ck
te

n
 T

e
ile

n
 m

it
R

os
ts

ch
ut

zf
ar

be
 a

ns
tr

ei
ch

en
.

•
D

en
 S

ch
al

ld
äm

pf
er

 h
er

ab
se

tz
en

 u
nd

 a
us

lö
se

n,
 d

ie
 H

ec
k-

S
to

ß
st

an
ge

  
ab

m
on

tie
re

n.

•
B

au
en

 d
en

 S
to

ß
qu

er
tr

äg
er

 -
 d

er
 a

n 
de

r 
W

ag
en

-R
üc

kw
an

d 
be

fe
st

ig
t 

is
t 

– 
ab

.

•
D

ie
 A

nh
än

ge
rv

or
ric

ht
un

g 
„1

“ 
an

 d
en

 B
ef

es
tig

un
gs

pl
at

te
n 

de
s 

S
to

ß
-Q

ue
rt

rä
ge

rs
 p

os
iti

o-
ni

er
en

 u
nd

 z
w

ar
 i

n 
be

zu
g 

au
f 

 d
ie

 S
tif

ts
ch

ra
ub

en
 a

n 
de

r 
R

üc
kw

an
d 

de
s 

Fa
hr

ze
ug

es
,

na
ch

de
m

 d
ie

 B
ef

es
tig

un
gs

m
ut

te
rn

 g
el

ös
t 

w
or

de
n 

si
nd

. 
D

an
n 

m
it 

S
ch

ra
ub

e 
M

8x
30

 a
n

de
r 

B
oh

ru
ng

 „
2“

 u
nd

 d
en

 m
itg

el
ie

fe
rt

en
 M

ut
te

rn
 M

8 
fix

ie
re

n.

  
  

  
  

  
N

ac
h 

de
r 

B
ef

es
tig

un
g 

de
r V

or
ric

ht
un

g,
 d

ie
 S

to
ß

qu
er

tr
äg

er
-P

la
tte

n 
ve

rs
ie

ge
ln

, u
m

 z
u

  
  

ve
rm

ei
de

n,
 d

as
s 

da
s 

A
bg

as
 in

 d
en

 F
ah

rz
eu

gs
ra

um
 e

in
tr

itt
.

•
D

ie
 K

of
fe

rr
au

m
-I

nn
en

ve
rk

le
id

un
g 

an
he

be
n 

un
d 

in
 d

en
 l

in
ke

n 
Lä

ng
st

rä
ge

r 
di

e 
G

eg
en

-
pl

at
te

 „
3“

 p
os

iti
on

ie
re

n,
 i

nd
em

 d
as

 L
an

gl
oc

h 
am

 B
od

en
 b

en
ut

zt
 w

er
de

n.
 D

an
ac

h 
m

it
ei

ne
r 

S
ch

ra
ub

e 
M

12
x4

0 
fix

ie
re

n.

•
D

ie
 g

le
ic

he
 A

rb
ei

t i
st

 a
uc

h 
au

f d
er

 r
ec

ht
en

 S
ei

te
 d

es
 F

ah
rz

eu
ge

s 
– 

m
it 

de
r 

G
eg

en
pl

at
te

4 
 -

 a
us

zu
fü

hr
en

.

•
D

en
 S

ch
al

ld
äm

pf
er

  
w

ie
de

r 
ei

ns
et

ze
n.

•
S

ch
ra

ub
en

 u
nd

 M
ut

te
rn

 fe
st

 a
nz

ie
he

n,
 d

ie
 K

ug
el

 m
it 

S
ch

ra
ub

en
 M

12
x6

5 
un

d 
de

n 
D

os
en

-
ha

lte
r 

na
ch

 d
er

 M
on

ta
ge

ze
ic

hn
un

g 
m

on
tie

re
n.

  
D

ie
 S

te
ck

do
se

 u
nd

 d
ie

 e
le

kt
ris

ch
en

A
ns

ch
lü

ss
e 

he
rs

te
lle

n.
 D

ab
ei

 d
ie

 a
m

 E
-S

at
z 

be
ig

el
eg

te
n 

M
on

ta
ge

an
w

ei
su

ng
en

 u
nd

di
e 

G
eb

ra
uc

hs
- 

un
d 

W
ar

tu
ng

sa
nl

ei
tu

ng
 d

es
 F

ah
rz

eu
ge

s 
be

ac
ht

en
. 

Z
ul

et
zt

 d
ie

 H
ec

k-
S

to
ß

st
an

ge
 w

ie
de

r 
m

on
tie

re
n.

G
E

B
R

A
U

C
H

 U
N

D
 W

A
R

T
U

N
G

1.
D

ie
 K

up
pl

un
gs

ku
ge

l i
st

 s
au

be
r u

nd
 e

in
ge

sc
hm

ie
rt

 z
u 

ha
lte

n.
 A

us
 S

ic
he

rh
ei

ts
gr

ue
nd

en
 is

t
de

r K
ug

el
du

rc
hm

es
se

r r
eg

el
m

ae
ss

ig
 n

ac
hz

up
ru

ef
en

. S
ol

lte
 s

ic
h 

da
be

i n
ac

h 
w

ie
de

rh
ol

te
n

M
es

su
ng

en
 a

n 
ve

rs
ch

ie
de

ne
n 

K
up

pl
un

gs
te

ile
n 

ei
n 

D
ur

ch
m

es
se

r v
on

 4
9 

m
m

 h
er

au
ss

te
lle

n,
da

nn
 d

ar
f 

di
e 

ab
ge

nu
tz

te
 K

up
pl

un
gs

ku
ge

l n
ic

ht
 m

eh
r 

ve
rw

en
de

t 
w

er
de

n,
 b

is
 d

ie
 o

be
n

ge
na

nn
te

 K
ug

el
 e

rs
et

zt
 w

or
de

n 
is

t.
2.

Im
 F

al
l g

ib
t 

es
 a

bn
eh

m
ba

re
 E

in
he

ite
n,

 d
ie

 A
bw

es
en

he
it 

de
r 

S
pi

el
rä

um
e 

zw
is

ch
en

 d
en

K
ug

el
sk

up
pl

un
ge

n 
un

d 
de

r V
er

bi
nd

un
gs

vo
rr

ic
ht

un
g 

na
ch

pr
üf

en
 u

nd
 fü

r d
ie

 S
äu

be
ru

ng
 u

nd
di

e 
S

ch
m

ie
ru

ng
 s

or
ge

n.
3.

D
e

r 
vo

llk
o

m
m

e
n

e
 Z

u
g

 s
a

e
m

tli
ch

e
r 

S
ch

ra
u

b
e

n
 i

st
 n

a
ch

 1
0

0
0

 K
m

 Z
ie

h
e

n
 w

ie
d

e
r

na
ch

zu
pr

ue
fe

n.



4295 / 24.05.2004 / 6

F
Dispositif de remorquage type:4295

Pour autos:FIAT PANDA 4WD ‘04

NOTES D’INFORMATION:
1.Avant de commencer l’activité d’installation s’assurer que l’attelage en objet va avec le

véhicule sur lequel il doit être installé.
2.L’attelage est un élément de sécurité et donc il peut être installé seulement par du personnel

qualifié.
3.Il faut que le personnel spécialisé remplace les éventuelles parties endommagées par des

pièces de rechange originales.
4.Il est interdit d’effectuer toutes les modifications substantielles et les réparations structurales

sur l’attelage.

5. En absence de la remorque, si la boule limite la visibilité de la plaque, démonter la partie
démon table de l’attelage.

INSTRUCTIONS DE MONTAGE:
Enlever les éventuels mastics de protection dans les points de contact entre la coque de la
voiture et l’attelage, éventuellement vernir les parties découvertes avec du vernis antirouille.

•Baisser le silencieux en le détachant, démonter le pare-chocs arrière.

•Démonter la traverse arrière qui est fixée à la partie arrière de la voiture.

•Placer l’attelage « 1 » sur les plaques de fixage traverse chocs en prenant référence
aux vis prisonnières qui se trouvent sur la paroi arrière de la voiture, après avoir dévissé
les écrous de fixage. Fixer avec la vis M8X30 sur le trou « 2 » et avec les écrous M8
livrés.

            Après le fixage du dispositif, cacheter les platines de la traverse avec du matériel
      opportun pour éviter que les fumée de dégagement entrent dans l’habitacle.

•Soulever le revêtement intérieur de la malle et placer à l’intérieur du longeron de gau-
che la contreplaque « 3 », en utilisant le trou placé sur le sol et fixer en utilisant une vis
M12x40.

•Effectuer telles opérations sur la coté droite de la voiture en utilisant la contreplaque
« 4 ».

•Remonter le silencieux.

•Bloquer la boulonnerie, monter la boulle en utilisant les vis M12x65 et la porte prise,
comme indiqué dans le schéma de montage. Monter la prise de courant et effectuer les
connexions électriques en suivant les instructions jointes à la boite des câbles pour le
câblage et celles indiquées dans la notice d’entretien. A’ la fin remonter le pare-chocs
arrière.

USAGE ET ENTRETIEN
1.Il faut maintenir la boule de l’attelage propre et lubrifiée. Pour des raisons de sécurité,

contrôlerpériodiquement le diametrè de la boule; si on relève un diamètre de 49 mm.
après plusieurs mesurages  dans de différents points de la boule l’attelage ne pourra
plus être utilisé jusqu’au replacement de la boule susdite.

2.Dans le cas de dispositif amovible, vérifier líabsence de jeu entre les accouplements
boule etl’attelage et pourvoir au nettoyage et à la lubrification.

3.Vérifier le parfait serrage de toutes les vis après avoir parcouru 1000 Km. de traînage
environ.

4295 / 24.05.2004 / 7

E
Gancho de remolque:4295

Para autovehículos:FIAT PANDA 4WD ‘04

NOTAS INFORMATIVAS:
1.Antes de empezar cualquier actividad de instalación asegurarse que el gancho de remolque

sea él apropiado para el vehículo al que se le quiere instalar.

2.El gancho de remolque es un elemento de seguridad y como tal debe ser instalado
solamentepor personal especializado.

3.Las partes que eventualmente puedan estar rotas o dañados deberán ser sustituidas
porrecambio original por personal especializado.

4.Esta prohibido efectuar cualquier modificación provisional o reparaciones estructurales
sobreel gancho de remolque.

5. Si la bola (sin el remolque) cubre parcialmente o totalmente la matrícula, retirar la
partedesmontable del gancho de remolque.

INSTRUCIONES DE MONTAJE:
Sacar la resina de protección sobre la zona de contacto entre la estructura del vehículo y el
enganche; y eventualmente barnizar la parte descubierta con barniz anti-oxido.

•Bajar el silenciador descolegando,  Y desmontar el parachoque posterior.

•Desmontar la travesía del choque posterior, fijada en la pared posterior del vehículo.

•Posicionar el dispositivo de acareo “1” sobre la plancha de la travesía choque, haciendo
referimiento a los tornillos que son atascados ya presente sobre la pared posterior
vehículo, despues de haber quitado los dados de fijación. Fijar con los tornillos M8x30
sobre el hueco “2” y con los dados M8 ya dados en dotación.

           Despues de fijarla en el dispositivo, sellarlo con la plancha de la travesía choque,
            con material apropiado, para evitar che el fumo de descarga entren dentro del
            vehículo.

•Alzar el revestimiento interno del fondo de el baúl y posicionar al interno del teladio
izquierdo la contrachapa “3”, utilizando el ojales ya existente sobre el piso y fijarlo
utilizando un tornillo M12x40.

•Efectuar esta operación en el lado derecho del vehículo sirviendose de la contrachapa
“4”.

•Aganchar nuevamente el silenciador.

•Cerrar a fondo los pernos; montar la esfera utilizando los tornillos M12x65 y el que lleva
la presa, como es indicado en el esquema de montaje. Montar la presa de corriente y
efectuar los colegamientos eléctricos siguiendo las instrucciones pegadas en la
confección de los cables para el montaje de los alambres y las instrucciones hechas en
el librito de uso y mantenimiento del vehículo. Por último montar nuevamente el
parachoque posterior.

USO Y MANUTENCIÓN
1.Mantener la esfera del O.T. limpia y lubrificada. Por motivo de seguridad, controlar periodi

camente el diametro de la esfera; en el caso si se encuentra un diametro de 49 mm despues
de repetidas medidas en diversos puntos de la esfera, O.T. no podra ser más utilizado
hasta La sostitución de La misma predicha esfera.

2.En caso de dispositivos desmontables, controlar que no haya juego entre los acoplamientos
bola-dispositivo de enganche y proveer a la limpiadura y lubricación de los mismos.

3.Verificar La perfecta cerradura de todos los Tornillos despues cerca 1000 Km de acareo.

4295 / 24.05.2004 / 6

F
Dispositif de remorquage type:4295

Pour autos:FIAT PANDA 4WD ‘04

NOTES D’INFORMATION:
1.Avant de commencer l’activité d’installation s’assurer que l’attelage en objet va avec le

véhicule sur lequel il doit être installé.
2.L’attelage est un élément de sécurité et donc il peut être installé seulement par du personnel

qualifié.
3.Il faut que le personnel spécialisé remplace les éventuelles parties endommagées par des

pièces de rechange originales.
4.Il est interdit d’effectuer toutes les modifications substantielles et les réparations structurales

sur l’attelage.

5. En absence de la remorque, si la boule limite la visibilité de la plaque, démonter la partie
démon table de l’attelage.

INSTRUCTIONS DE MONTAGE:
Enlever les éventuels mastics de protection dans les points de contact entre la coque de la
voiture et l’attelage, éventuellement vernir les parties découvertes avec du vernis antirouille.

•Baisser le silencieux en le détachant, démonter le pare-chocs arrière.

•Démonter la traverse arrière qui est fixée à la partie arrière de la voiture.

•Placer l’attelage « 1 » sur les plaques de fixage traverse chocs en prenant référence
aux vis prisonnières qui se trouvent sur la paroi arrière de la voiture, après avoir dévissé
les écrous de fixage. Fixer avec la vis M8X30 sur le trou « 2 » et avec les écrous M8
livrés.

            Après le fixage du dispositif, cacheter les platines de la traverse avec du matériel
      opportun pour éviter que les fumée de dégagement entrent dans l’habitacle.

•Soulever le revêtement intérieur de la malle et placer à l’intérieur du longeron de gau-
che la contreplaque « 3 », en utilisant le trou placé sur le sol et fixer en utilisant une vis
M12x40.

•Effectuer telles opérations sur la coté droite de la voiture en utilisant la contreplaque
« 4 ».

•Remonter le silencieux.

•Bloquer la boulonnerie, monter la boulle en utilisant les vis M12x65 et la porte prise,
comme indiqué dans le schéma de montage. Monter la prise de courant et effectuer les
connexions électriques en suivant les instructions jointes à la boite des câbles pour le
câblage et celles indiquées dans la notice d’entretien. A’ la fin remonter le pare-chocs
arrière.

USAGE ET ENTRETIEN
1.Il faut maintenir la boule de l’attelage propre et lubrifiée. Pour des raisons de sécurité,

contrôlerpériodiquement le diametrè de la boule; si on relève un diamètre de 49 mm.
après plusieurs mesurages  dans de différents points de la boule l’attelage ne pourra
plus être utilisé jusqu’au replacement de la boule susdite.

2.Dans le cas de dispositif amovible, vérifier líabsence de jeu entre les accouplements
boule etl’attelage et pourvoir au nettoyage et à la lubrification.

3.Vérifier le parfait serrage de toutes les vis après avoir parcouru 1000 Km. de traînage
environ.

4295 / 24.05.2004 / 7

E
Gancho de remolque:4295

Para autovehículos:FIAT PANDA 4WD ‘04

NOTAS INFORMATIVAS:
1.Antes de empezar cualquier actividad de instalación asegurarse que el gancho de remolque

sea él apropiado para el vehículo al que se le quiere instalar.

2.El gancho de remolque es un elemento de seguridad y como tal debe ser instalado
solamentepor personal especializado.

3.Las partes que eventualmente puedan estar rotas o dañados deberán ser sustituidas
porrecambio original por personal especializado.

4.Esta prohibido efectuar cualquier modificación provisional o reparaciones estructurales
sobreel gancho de remolque.

5. Si la bola (sin el remolque) cubre parcialmente o totalmente la matrícula, retirar la
partedesmontable del gancho de remolque.

INSTRUCIONES DE MONTAJE:
Sacar la resina de protección sobre la zona de contacto entre la estructura del vehículo y el
enganche; y eventualmente barnizar la parte descubierta con barniz anti-oxido.

•Bajar el silenciador descolegando,  Y desmontar el parachoque posterior.

•Desmontar la travesía del choque posterior, fijada en la pared posterior del vehículo.

•Posicionar el dispositivo de acareo “1” sobre la plancha de la travesía choque, haciendo
referimiento a los tornillos que son atascados ya presente sobre la pared posterior
vehículo, despues de haber quitado los dados de fijación. Fijar con los tornillos M8x30
sobre el hueco “2” y con los dados M8 ya dados en dotación.

           Despues de fijarla en el dispositivo, sellarlo con la plancha de la travesía choque,
            con material apropiado, para evitar che el fumo de descarga entren dentro del
            vehículo.

•Alzar el revestimiento interno del fondo de el baúl y posicionar al interno del teladio
izquierdo la contrachapa “3”, utilizando el ojales ya existente sobre el piso y fijarlo
utilizando un tornillo M12x40.

•Efectuar esta operación en el lado derecho del vehículo sirviendose de la contrachapa
“4”.

•Aganchar nuevamente el silenciador.

•Cerrar a fondo los pernos; montar la esfera utilizando los tornillos M12x65 y el que lleva
la presa, como es indicado en el esquema de montaje. Montar la presa de corriente y
efectuar los colegamientos eléctricos siguiendo las instrucciones pegadas en la
confección de los cables para el montaje de los alambres y las instrucciones hechas en
el librito de uso y mantenimiento del vehículo. Por último montar nuevamente el
parachoque posterior.

USO Y MANUTENCIÓN
1.Mantener la esfera del O.T. limpia y lubrificada. Por motivo de seguridad, controlar periodi

camente el diametro de la esfera; en el caso si se encuentra un diametro de 49 mm despues
de repetidas medidas en diversos puntos de la esfera, O.T. no podra ser más utilizado
hasta La sostitución de La misma predicha esfera.

2.En caso de dispositivos desmontables, controlar que no haya juego entre los acoplamientos
bola-dispositivo de enganche y proveer a la limpiadura y lubricación de los mismos.

3.Verificar La perfecta cerradura de todos los Tornillos despues cerca 1000 Km de acareo.



 
 
    
   HistoryItem_V1
   SimpleBooklet
        
     Create a new document
     Order: single binding (saddle stitch)
     Sheet size: scale to A4 (297 x 210 mm)
     Front and back: backs interleaved, upside-down
     Align: centre each page in its half of sheet
      

        
     0
     CentrePages
     InlineInvert
     10.0000
     20.0000
     0
     Corners
     0.3000
     None
     1
     0.0000
     1
     1
     0
            
       D:20170412105841
       1190.5512
       a3
       Blank
       841.8898
          

     Wide
     16
     Single
     184
     430
    
     0
     A4Wide
            
       CurrentAVDoc
          

     1
      

        
     QITE_QuiteImposing2
     Quite Imposing 2.9b
     Quite Imposing 2
     1
      

   1
  

 HistoryList_V1
 qi2base





